Math 54-1 Your name: ‘(6%'

Quiz 2, July 2, 2010 J
Please write your name on each sheet. Show your work clearly and in

order, including intermediate steps in the solutions and the final answer.

1. (5 pt) Describe the set of all solutions of the vector equation
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in parametric vector form. That is, find the general form of the vector
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2. (5 pt) Consider the vectors
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(a) Prove that the vectors {dy, ds, @3} form a linearly dependent set. Find
a linear dependence relation.
(b) Use the linear dependence relation found in (a) to express one of the
vectors above as a linear combination of the other two.

(<)) ) Do the vectors {@y,ds, d3} span the whole R%? Explain. (A picture
with no explanations would not suffice.)

| { fa O ] QaéQz'Q\
>

©[5?\ @@ﬁojz [1..l “ O




